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1) The critical numbers of the function f (x ) =2x 34+3x%-12x +2 are

la] 1,2 6] 2,1 lc]-2,-1 ld]-12

2) The function f (x )=2x 5 4+3x?—-12x +2 isdecreasing on

[d (12) Bl ke [y

3) The function f (x ) =2x° +3x 2_12x +2 isincreasing on

la] (~o-2)U(L0) o] (o-U2) [e] (o)U(2) [d] (=0 2)U(-1)

4) The function f (x ) =2x 34 3x % —12x +2 has arelative maximum point at

@26 bl (-115) (-2,22) (1L-5)

5) The function f (x ) =2x 343x%—12x +2 has arelative minimum point at

ld 26 Bl (115 (-2,22) 1,-5)

6) The graphof f (x)=2x>+3x *-12x +2 concave upward on

d o Bleor  fdens  dow

7) The graph of f (x )=2x>+3x 2_12x +2 concave downward on

d (o-ry  Bleow o oo

8) The function f (x )=2x>+3x?—12x +2  has an inflection point at

-3 bl o le] ) (— %.-3)

9) The absolute maximum value of the function f (x ) =2x 34+3x%—12x +20n[0,2] is

la] 22 b] 6 lc] 2 ld] s

10) The absolute minimum value of the function f (x ) =2x 34+3x%-12x +2 on [0,2] is

la] 22 b] 6 lc] 2 ld] -5

11) The number(s) ¢ in- (O, 2) which make the function f (X)=x 3 _dx +1 satisfy
Rolle's Theorem on [0, 2] is (are)

12) The equation of the line passes through (8,—5) and (4, -—3) is

lal y =—2x +5 bl y =-2x +11 y:—%ﬂ ldly =— _’;__1

13) The solution of the inequality }x — 3‘ <5is

[d(-2.8) [B][-2.8] [l (~0,~21U8,0) [d] (~0,-2)U(8,0)




x

m—-=

14) 2L
o] - p]2 »  ld]o
' x+3 _
15) The function f (x ) = —==— is continuous on
Jx2-25

A5 Bl El(=m-s)u=) @] (<os]ufse)

16)If y =9 then y =

_gw* gec?x [n9  |b] 9" sec’x 9" sec’x In9 9" In9

Hm—~———2x_2~
17) =51 lnx—
1
@l B @e @

cx?+2x x L2 , _
18) The value ¢ that makes f (x ) = ; is continuous at 2 is
x°—-cx x>2

2 2 3
—g @g c]o -2“

) 1
19) lim =
x=3 X — 3

la] ] — w0 ] 1 ld]0

20)If ¥ =x 7, then y' =

@xzx[H-lnx] @2x2x[1+1nx] 2[1+lnx] 1+hlx

aDIf y =log, (x> +1),then y ' =

2 2 2
@ 3x @ % 3x ( 1

(x3+1)ln7 (x3+1)1n7 x4+l x3+l)ln7
22)Find the domain of the function f(x)= —2x—+§———
x=+x =2

la] (~0,0) o] R\{-21} ] R\{-1,2} 2] R\(-2,1)

23)If Xy +y2+x3:0,theny’:

@3)62—)/ @3)52—}/ _3x2+y _3x2+y

x =2y x +2y x =2y x+2y
24) The function f (x)=3x"—x is ’
EZ] Even @ Odd Even and odd Neither even nor odd




25)If ¥ =x% " then y'=
~xe ™ (x +2) b] xe™ (x -2)
el xe (2-x) [d] xe™ (x +2)

: " T-x .
26) The vertical asymptote of f (X ) =—5———-18
+x -2

X
@ Y =-2,1 @x =-21 x =-12 y =-12
2)If y =3x 7 +secx ,then y'=

6x —secx tanx 6x —secx tanx
J3x 2 +secx 2\@36 2 _secx
6x +secx tanx 6x +secx tanx
: 2
\[3x —Ssecx 2\/33: +secx

| /4
28)If x =s1n 1(5) and 0<Xx <——2—,then cotx

d 242 @-2-\1—5— -2—\5/—-% 53——2:

29)If y =csc”1(x3),then y'=

3 3 3 ‘ 3
- - ol — Al ———
E‘x\/xé—-l @ xx®-1 xJx’ -1 xx/xs—l

30)If y =cot’(4x ), then y =
la] —4cot?(4x )esc?(4x ) [6] -3 cot? (4x esc® (4x )
—12cot (4x )osc® (4x ) 12cot?(4x Josc® (4x )

, : 1-x
31) The tangent line equation to the curve of /' (x )= 3
' X +

y=—x+2 Ey=2x+3 y:x+2 y:—x

at the point (—11) is

37
32) '-5' rad =

120° [b]150° 270° 210°

x =2

33)Find the inverse of the function /" (X )=

2

1+x
2

1—-x

X

lalf ()= blf (x)=
x —2

el wy=- = df )=




. =3x?+8x +15
34) lim ——; =
e Gx “ 4 d4x —13

] 0 Ble  E; M-

35) D®(cosx )=

@ sinx Eﬂ COSX ~ sinx

36) log, 27 —log, 81+1log, J3=

1 1
@”2? p] 1 B“}z ld] o

o X7-8x 415
37 x5 x 2 +4x - 21

does not exist @ 5 =5 -

38) lim k-3

x=5" x —5

la] does not exist ‘ 5] 0 1

39) lim

X
>0 Jx +36 -6
[a] - 12 Bl-- e =

12

40)If £ (x)=9—x?, and g(x ) =10, then (f og)x)=

lal1-x2  [p]9-©-x%?* [c]10 ld]-91




